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Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Computer-Science-I1 Time: 3 Hours

Ques # :1

In how many ways can 6 people be seated around a round tabel? Two arrangements are equvalent if relative
position of all pairs is same:--

1) 720
2) 240
3) 36

4) 120

6 STTFT TF el AT F IS FF st ThR A 335 Thd § 2 &) doF A gl &, I SafFaal F v+

IR 1 qraeT iy g e ! -
1) 720
2) 240
3) 36
4) 120

Ques # :2

Given a relation R = { (1,2), (2,3) } on a set A = (1,2,3}. The minimum number of ordered pairs that must be
added to R so that, R becomes an equivalence Relation is :-

1) Four
2) Five
3) Six

4) Seven

AT A = (1,2,3} R TF-U R = { (1,2), (2,3) } T 3T § | Fgeraw e wffw R & st S
ITERIF ¢ ATfF R TF JeddT (SFaaels) qoaeer a1 o1 !

D ax
2) dfg
3) [}
) ga
Ques # :3

A function F(x) is invertible, if it is:-
1) One - One

2) Onto

3) Both one - one and onto

4) Neither one- one nor onto

T Fel f(x) SYHATT AT ¢ AR T -
D) w&er (aet-ae)

2) srenTed(3it T)

3) whhT T 3TeTTEd At

4) 71 & T 3R A7 &) 3TToTEd

Ques # 4

Let S be a set of n elements . The number of ordered pairs in largest and smallest equivalence relation on set S
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are respectively :-
1) nandn

2) n2 andn
3) n2 and 0
4)ynand 1

HIAT S TF n HEFET $THHA § | S W TF Jeddl GlFaday) TFaey # HiAw 7at i srfwas
YT IATH AT HoA: gra :-

D) ngamrn

2) n> @m n

3) ne gur 0

4) ndar 1

Ques # :5

A node of rooted binary tree is said to have
preorder number |, if the node occurs in the
" position in the preorder traversal sequence.
The notions of postorder number and inorder
number are defined in a similar manner. We use
the notations PRE(X), POST(X)and IN(X) to
denote the preorder number, postorder number
and Inorder number of a node X respectively.
Consider the following tree:

_#Q-)\ir_?)

Forthe tree given above, which of the
following is TRUE.

1) (PRE (A), POST (H), IN(F)) = (1,4,9)

2) (PRE (B), POST (I), IN(D)) = (2,6,1)

3) (PRE (C), POST (D), IN(E)) = (10,3,6)

4) (PRE (J), POST (K), IN(G)) =(7,5,3)
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TF TS a5 &f T A5 O 774 | & &

¥ gieia $r s § ofy 38 A drR e
fowdw & (" 9ifSes o 3| e woR O
HIET FFa TAT SAATET FFa I I THH
¥ gienia o g g 39 o g deer=w
PRE(X), POST(X) FATIN(X) 3931 #H o9 &

ST A5 X preorder number, postorder number
AT Inorder number FAA: AT T -

CsD

D, D
foer aftg & & 3muT W 97 &
s A @ sida T T 8 -
1) (PRE (A), POST (H), IN(F)) = (1,4,9)
2) (PRE (B), POST (I), IN(D)) = (2,6,1)

3) (PRE (C), POST (D), IN(E)) = (10,3,6)
4) (PRE (J), POST (K), IN(G)) = (7.,5,3)

Ques # :6

Choose an invalid property of a minimum spanning tree T, extracted from a connected graph G of n vertices:-
1) T has n-1 edges

2) T has n vertices

3) T is connected

4) R has n/2 edges

U n JEFH & FAFCS AT A YIS §C TN Y T & ForT eqagFel JOTers T 73T Y -
D 1&rn-1 v gl

2) Ta?naé?\qm

3) T Freres gam

D T2 Totot 8191

Ques # 7

A regular expression that denotes a language comprising all possible strings of even length over the alphabet
0,1) is :-

1) (0/1) (1/0)*

2) (0+1)*011

3) (00/01]10J11)*

4)0*1*

U W[eR TFARLT St o W aears Y wea @ faw, St vewree (0,1) ¥ 9=t 8, Fr gutan g -
1) (0/1) (1/0)*

2) (0+1)*011

3) (00]01]10]11)*

4) 0*1*
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Ques # :8

Choose the statement that best defines the relationship among type -o Language (Lo), context free language
(Lcf) , regular languages(Lr) and context sensetive language(Lcs):-

D Lr ¢ Lef — Les < Lo

2) Lef  Les  Lr — Lo
3 Lo © Les — Lef — Lr

Y Lo — Lr — Les — Lcf

€18Y-0 ATASA(Lo), FleeFEe T AT (Lef), TeR A7aeT(Lr) TYUT Flecave Feifed ddst(Les) &
AET Fraeel B TRATRT FI I FIASS FAA § :-

) Lr ¢ Lef © Les < Lo

2) Lef — Les © Lr — Lo

3) Lo © Les — Lef — Lr

4 Lo — Lr c Les — Lef

Ques # :9

Given the language L = { ab, aa, baa} which of the following strings is not in L* ?
1) abaabaaabaa

2) aaaabaaaa

3) baaaaabaaaab

4) baaaabaa

&I I1$ 93T L = { ab, aa, baa}*mm##me*ﬁﬂﬁ%:-

1) abaabaaabaa
2) aaaabaaaa

3) baaaaabaaaab
4) baaaabaa

Ques # :10

If L1 is context free language and L2 is regular
language thanL1 NL2is :-

1) Context Free

2) Regular but not context free

3) Neither Context free nor regular
4) Both regular and context free

ofe L1 Fiecsee W dlvast § o
L2 TR ofdas § @9 L1 NL2 &-
1) siceaee shr

2) W[eR Te] hieCahee WhY 78T

3) & Fiecaee B 3R AT WeR

) Fieeare 1Y IR EER At

Ques # :11

For positive n and f(n), choose time compexity of f(n),
if f(n) =ag + an +an? + ...+ a,n™, and a, > 0.
1)
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B(n™)
2) B(m")
3) 8(a™)
4) 8(n?)
TATHS n T4 f(n) & T, f(n) Fr TEH FEvFwe I
afe f(n)=ag+amn+an+.... + a,n™ da,>0
D o(n™)
2) 8(m")
3) 8(a™)
4) 8(n?)

Ques # :12

Choose a false statement :-

1) Greedy approach is based on local optimal solution .
2) Greedy approach is faster than dynamic programming.
3) Greedy approach examines all feasible solutions.

4) MST prim's algorithm is based on greedy approach

AT FYA AT :-

1) afrdY arvirer Tumi 3o FATT, W 3MeTRA ¥ |
2) S 3197, SRS NATET A AT |

3) ey 31T el HITT FATHTST IX AR AT |

4) MST & g Tean e e 3 oX 3merRa &

Ques # :13

Which of the following algorithm design technique is used in designing quick sort algorithm :-
1) Dynamic programming method

2) Back tracking strategy

3) Divide and conquer strategy

4) Greedy strategy

Fas A1 TemRed i e #H Fiad) tenRed @WardedF AT A aE IS g 2
D) et wranfder Avs

2) 9a ¢ fher TSN

3) faqrSs UUS HidAaT Tl

) ofrdr weesh

Ques # :14
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Consider the tree T given below.
If post order traversal of T gives BCEAD,
the lables of nodes 1,2,3,4,5, respectively are :-

o — root

Tree-T
1) DEBAC
2) DBEAC
3) EDABC
4) DEABC
arr o aw aEad & T W o |
afg T F diee H1ET &a3@e W BCEAD e

2ar & ar A5 1,2,3,4,5 F o FdT FHA: FAT -

(D) =

Tree-T
1) DEBAC
2) DBEAC
3) EDABC
4) DEABC

Ques # :15

Which of the following is a valid topological
ordering of graph G given below ?

» (S
. (®)

Graph - G
1) ABCD
2) BACD
3) BADC

4) ABDC
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9ed IAE G Fr I TR
et o & § Faar &

Graph - G
1) ABCD
2) BACD
3) BADC
4) ABDC

Ques # :16

Which of the following is an all pair shortest path algorithm of graphs ?
1) Bellman -Ford algorithm

2) Ford - Fulkerson algorithm

3) Floyd- washall algorithm

4) Dijkstra's algorithm

foesT & & et I i FIEET ZIA g TY (3o I AREFE ) wemieA § 2
D Sor-Ae-w1S vamRes

2) IS -JoaiH TerliRer

3) TS AR Teren e

4) festereaTe vareieA

Ques # :17

Which of the following is not a method of obraining hash function ?
1) Random probing

2) Folding

3) Truncation

4) Modular Arithmetic

e & O Flad) g P A AR AETE 2
D) Yoo wifear

2) wifegar

3) ganeret

4) AggeR RS

Ques # :18

Which of the following is not a collision resolution technique in hash table using linear open addressing ?
1) Rehashing

2) Clustering

3) Quarditic probing

4) Linear probing

foeer & & Flere, fAfaaw situer w3flier dor Saer & fore- Afoare ReeqersT awadie 781 8 2
D) fedfarer
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2) FerEeiaT
3) Farfsfes W
4) Moz wfdar

Ques # :19

The average number of comparisions performed in sequencial search on a list of n elements is :-
1) p2

2) n(n+1)/2

3) n(n-1)/2

4) (n+1)/2

n 3qga Y Th R 9T, RFAAT T g@arr fFe S are Jerensi( FFAReraw) F1AeaHArT
@ 8 -

1) n?

2) n(n+1)/2
3) n(n-1)/2
4) (n+1)/2

Ques # :20

Which of the following statements is not valid about binary search ?

1) It perform search in O(logzn) time.
2) It constructs a Binary search tree.

3) It is applicable only on a sorted list

4) It uses divide and conquer strategy.

AN TT F IR A AT A A Flaar syasRaTad e -
1) It perform search in O(logzn) time.

2) Ig U ST T &Y T TATOT T &
3) 71g ShaeT AIES(FHTR FT) foree TR & e e &
1) g f2aTSs UUS HleTad T FH T AN E

Ques # :21

The number of swappings needed to sort the number 8,22,7,9,31 in ascending order using bubble sort is :-

) 3
2) 5
3) 7
4) 10

I A1C TAIMNTH FT AT T FEATHT 8,22,7,9,31 F 9ad A A I Td I F faw fha=r
3T -SETeT () -

) 3

2) 5

3 7

4) 10
Ques # :22

In context of problem classes, which of following statement is not valid :-

1) NP - complete — NP
2) NP — Hard — NP
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) PCNP
4) If LENP and LENP then, Leco — NP

W H FAS F et &, g A ¥ sl saa 3Raad & --
1) NP — complete — NP

2) NP —Hard C NP
3) PCNP
Y) gfy LeNP FaT LeNP &9, Leco—NP

Ques # :23

Let L1 is an NP - complete problem, another problem L2 will also be an NP- compete problem if :-
) L2 € NP and L1 is reducible to L2 in polynomial time

2) L2 ¢ NP and L1 is reducible to L2 in polynomial time
3) L2 € NP and L2 is reducible to L1 in polynomial time
4) L2 ¢ NP and L2 is reducible to L1 in polynomial time

HTelT L1 Teh NP - complete mmn%ﬁ g FHAEAT L2 $ft NP - complete HHEAT g9t Ife :-
D 12 NPT L1 9 oieaiae oemd L2 & seon o &%
2) L2 ¢ NP L1 oifeifdad a8 d L2 # 981 o 8§
3 L2 e NP TUT L2 T oifoif@Ter esAH L1 H ager o1 8
4) L2 ¢ NPT L2 T difeAITAgd 88 H L1 H a¢ar =T 85

Ques # :24

Which of the following problems is not an NP-complete class problem?
1) 3-CNF-SAT Problem

2) Vertex cover problem

3) Depth -First -search of graph

4) Clique problem

=T GHTAT & ¥ FIaAH NP-complete FATH Y FATAT AL & 2
) 3.CNF-SAT gaET

2) géary ek GHEAT

3) I T oY BEE T

1) Gt gaEan

Ques # :25

A relation in which every non-key attribute is fully functionally dependant on primary key and has no
transitive dependency, is in :-

1) BNCF
2) 2NF
3) 3NF
4) 4NF

v T R e gv sl vdiege agardl Fofl oX " Goell eFererelt BT glar ¢ aur owa
#1$ gifored RIS aQ e & | agerard -
) BNCF #
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2) INF #

3)3NFH

4) 4NF

Ques # :26

A relational schema R is in............if whenever a non - trivial
functional dependency x AholdinR, thexisa
superkey of R-

1) BCNF

2) 2NF

3) 3NF

4) ANF

s eree R & a9 & veh A Tflage vaeee BaEar
X — AR g, d x, R g-Fr grar ¢ |
vy AT R — A & -

1) BCNF
2) 2NF
3) 3NF
4) 4NF
Ques # :27

Which of the following operation requires two tables as input and the two table must have one common
column?

1) Division

2) Join

3) Projection

4) Cartesian product

frrafaf@a & & frw fnar 3 &) arelie e gerqe gYelt & aar Q= arelie st & v seraforss wawsr &1
E»’]'HTHTG’QW%:-

D) rafaerer

2) ey

3) grorerre

4) HRERTT Nsee

Ques # :28

Intersection operation on two relations R1 and R2 of data base is :-
1) Associative but not commutative

2) Commutative but not Associative

3) Both Associative and Commutative

4) Neither Associative nor commutative

STETad & &Y Re¥re R1 9T R2 9 wafass/ afadeet foram & aorerst ¢ :-
D) wrged weg o fafosr =

2) e ffeaT g ey gt

3) grg=rd gur e RAfAET et

4) a1 & A gur 71 ) A e
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Ques # :29

If relation R1 has P atrributes and m tuples and relation R2 has q attributes and n tuples, then relation R1 X
R2 has ......... attributes and ......... tubles.

1) (p*q), (m+n)
2) (p+q), (m+n)
3) (p*q), (m*n)
4) (p+q), (m*n)

Ife R1 AT 7 P wlsge va m el § 4T R2 Releret 7 q véisge va n a9 ¢ af Raerer R1xR2 &
........ TEISYE AT ........ T B9 :-

1) (p*q), (m+n)
2) (p+q), (m+n)
3) (p*q), (m*n)
4) (p+q), (m*n)

Ques # :30

In E-R model when subgroups of a given entity type are defined, this is known as :-
1) Aggregation

2) Inheritance

3) Specialization

4) Generalization

E-R Atsel & 51 felt ¥eed) g & fw suaeqg@ayqw) aRenfia i3 s & ot 9¢ wearane :-
D warrer

2) g

3) WRITeEa

4) TSN

Ques # :31

Cardinality ratio ' strong entity set : weak entity set' in their binary identifying relationship is :-
1) one -to- one

2) One-to-many

3) Many-to-one

4) Many-to-many

39 TSt NSFEBTZ T R AT # srorEarens srefura(F f3afad IR v vfeed de:
fiw tfeedi g gar s -

D tdues

?) T -q -G

3 9 -7 -Th

Vag-a-ag

Ques # :32

In E-R diagram ------ is represented by dashed ellips :-
1) Multivalued attribute

2) Composite attribute

3) Derived attribute

4) Complex attribute

ER T & - &1 33 figed @ AT AT R -
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D Frediaegs viege
2) T fore (@ ) T
3) frges (S geTe Tdege
4) e (fAfEa) vdege

Ques # :33

SELECT ecode FROM EMPLOYEE WHERE-----; is an SQL query to retrieve ecode of employees whose
address contains 'RPSC'. Following completes the query:-

1) addresss LIKE ' RPSC '
2) address ="'%RPSC%'

3) address AS '%RPSC '

4) address LIKE '%RPSC%'

SELECT ecode FROM EMPLOYEE WHERE : g SQL FIAL 3T HHAATRAY FT ecode fAFIAT

¢ foreT v3w & 'RPSC' 3mar ¢ | o=t vk Fad Y Qo Fan & -
1) addresss LIKE ' RPSC '

2) address = "'%RPSC%'

3) address AS '"%RPSC '

4) address LIKE '%RPSC%'

Ques # :34

What will be retrieved by following SQL query ? SELECT ecode FROM EMPLOYEE WHERE Salary>=
ALL(SELECT salary FROM EMPLOYEE);

1) ecode of employees getting maximum salary

2) ecode of all employees

3) ecode and salary of all employees

4) ecode and salary of employees getting maximum salary

faF=T SQL Fad gaRT F4T YIT 191 2 SELECT ecode FROM EMPLOYEE WHERE salary >=
ALL (SELECT salary FROM EMPLOYEE);

1) 31freraar aaer arel se=mRat & ecode

2) g3ft A=A &7 ecode

3) ey smataTfat &T ecode T salary

4) TR dH dceT aTel HHTTRAT T ecode TUT salary

Ques # :35

SQL command used to change attribute values of one or more selected tuples is :-
1) MODIFY

2) UPDATE

3) INSERT

4) ALTER

o 1 HAF TIfAd euew F vdisge & A HY FAT w3 F fAw F17 34 arelt SQL F#18

(32N § -
1) MODIFY
2) UPDATE
3) INSERT
4) ALTER

Ques # :36
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To avoid duplicate tuples in result of an SQL query, we use :-
1) DISTINCT Keyword in SELECT clause

2) UNIQUE Keyword in SELECT clause

3) DISTINCT clause after WHERE clause

4) UNIQUE clause after WHERE clause

SQL Fa{ & AT & AT Ul F G1gd ) Telel F faT g AT FIA & :-
1) DISTINCT #1938, SELECT FeitaT &

2) UNIQUE a8, SELECT FelioT &

3) DISTINCT &eilsl, WHERE FellsT & 393id

4) UNIQUE &dlfof, WHERE Feliof & 3U3id

Ques # :37

Valid SQL query to know total number of tuples available is a relation 'Book’ is:-
1) SELECT SUM(*)FROM Book;

2) SELECT NUMBER(*) FROM Book;

3) SELECT COUNT(*) FROM Book;

4) SELECT * FROM Book SUM(*);

RerreT Book # 3Ucets eqed Y FAHEAT Tt & fw 3fa SQL #7a8 ¢ :-
1) SELECT SUM(*)FROM Book;

2) SELECT NUMBER(*) FROM Book;

3) SELECT COUNT(*) FROM Book;

4) SELECT * FROM Book SUM(*);

Ques # :38

Which of the following is a pair of stable sorting algorithms?
1) Quick, Selection

2) Bubble , Insertion

3) Heap, Bubble

4) Selection, Insertion

fovet 3F @ Fiera R (Reaen Wféer vremRema w1y ¢ -
1) foger, ot

2) g9, SATS

3)'@?63?

4) gorFere, SAgoTd

Ques # :39

In direct file organization :-

1) A collision always results into an overflow

2) A collision never results into an overflow

3) A collision may or may not lead to an overflow
4) A collision never occures

SREE IS HIrod (AR ) 7 :-

1) spiforster g&a 3ifawrell # Bfad glar e

2) wiferstet el off 3iTawrell 7 wiod gl glaT &

3) Siferstet 3iTaTTFel 7 Biora ar ¢ Tehar & 3R 7ET off
) piforereT Fe afea FgT grar &
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Ques # :40

All changes made by a transaction are made permanent in the database only after transaction :-
1) FINAL

2) ROLL BACK

3) ABORT

4) COMMIT

T gt ganT 6 1T 3Y R« srered A gt F — g1 & 39d TS FA A R -

1) FINAL(W%TssTen)
2) ROLL BACK(Iel-34h)

3) ABORT(31E1E)
4) COMMIT(&He)

Ques # :41

Two concurrenttransaction T4 & T reads same data
value x, both updates and write back x to database.
Thismay cause problem.

1) Lostupdate problem

2)  Direct read problem

3) Incorrect summary problem

4) Unrepeatable read problem

ol THIAl(Fedic) aagee T4 & To &g ser

AT X & Ted & | ST X HT HEIAA(3T5e) I
pOM3A SR A PEd ¢ | sea gl ddl & .
D) diee-3aee dea#

2) & s WeaH

3)  gaiEe GAY WeaH

4 R O deaH

Ques # :42

ACID properties of a transaction means :-

1) Atomicity, concurrency, Integrity, Durability

2) Atomicity , consistancy , Isolation , Durability

3) Automatic, Concurrency, In consistancy , Durability
4) Automatic , consistancy, Integrity , Degrade

gIStERRIeT & ACID Tt ] T AT 8 -

D) 3reifafaed), seeiea, seefad), sy

2) sretfAfad)Fafaae-ar Jrsaraer sfafad
3) AT, FeTdieal, S (a4, ST

4) sifermfes, Fafaae=a, 3=, Bas

Ques # :43

A schedule in which transactions can neither read nor write an item X until the last transaction that wrote x
has commited or aborted. This type of schedule is called:-

1) Recoverable
2) Cascadless
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3) Strict
4) Non-recoverable

F AP [AA SIS T STeT HTFSH x &) AT for@ Wevell AT, 11 92 A1 8, 59 d&F M 7

grarerere foreet 3ifas e x Y fora, ar at 13 8 3I1a I1 3raE 8 91 | 3 TR &7 AT Fgerrar

T:-
D) Repaerer

2) SErsad

3) fegae

4) sieT-Repeaeer

Ques # :44

In context of database transactions, a 'wait -for - graph' is used for :-
1) Concurrency control

2) Dead lock prevention

3) Recovery

4) Dead lock detection

SIETNH TSI & Hesl & U ' -6 ' ATH" JAT faar Sran @ -
D) reepifed Focier & faw

2) 35 ciieh T NehaTH & faw

3) Repall & foT

4) 2=dier 1 yga & AT

Ques # :45

In context of compilers, a lexical analyser generates:-
1) Syntax tree

2) Token stream

3) Regular expression

4) Intermidiate code

HFFIFOR F Goodl A, AFTFH TATAER (FIV [A2QTFH) IcTead FIATE :-

D fReeaa &

2) Ereet T

3) TR TR (SS)
1) seefAdve I

Ques # :46

The following function is not performed by a loader:-
1) Allocation

2) Translation

3) Linking

4) Relocation

TF s AT F Ag Far g ;-
D) srefnere

2) grgorere

3) i
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4) YelrrereT

Ques # :47

Which of the following is not a machine independent phase of compiler?
1) Code generation

2) Laxical Analysis

3) Snytax Analysis

4) Intermidiate code generation

faF ¥ ¥ Sl FFuSeR F1 7T sARIETSErAAT) BT AL § -
1) s sterere

2) Afedee TATTIaH

3) ey vt e

4) seefafzue #ig ==

Ques # :48

An assembler is a system software that:-

1) Assembles modules of high level language program

2) Translates assembly language program to machine language equivalent
3) Tanslate HLL program into object file

4) Converts a high level language program to assembly language

IHAFTA T RATEH FTFeaT & o b -

D) grécrae <3St Wi & ATSYEH T 3T AT §

2) 3raFael JedsT WA Hr A Sfvdet F TUTaRT AT &
3) ue 3AF T WA F TFaiergC hcll o

) grSoITel JlTdST & WIETH Y 3T oI I TGl &

Ques # :49

Which of the following term is not related to Bottom -up parsing ?
1) L-R Parser

2) Shift -reduce parser

3) Reduction and pruning

4) Recursive -decent parser

fars & & i oo, afed-3rg oiffor @ grafrua a8 ¢ -
D) ver-3rme gz

2) fRrore-Rggd IR

3) Rgereret a2 gfeier

4) fyafirg - fede TR

Ques # :50

Choose a false statement about MACRO in context of an assembly language source code:-
1) It is single line abbreviation for group of instructions

2) Macro-name is used as an operation mnemonic

3) Macro calls are replaced by Macro defination

4) Macro defination also appears in epanded source code
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IHAFTY A7aeT & T R F Fegol ', MACRO F IR & 31T FUT FT TI HIAT :-
D) a1 fxdei & waqg &1 ve dfera e avor §

2) A T T T TETE (TR fAAE) H awE Tged aiar &

3) AsprepTed Ashl & aRHTT § TAEATIT T & ST &

) Aepr @t g, e G As & o e d

Ques # :51

Resolving symbolic refrences when a program is loaded is main memory for execution is called:-
1) Allocation

2) Linking

3) Relocation

4) Loading

9 TF WA F vragee & foe gy e (@ Aar) 7 ats frar arar § a9 seliewens dest
g (Referfaer Raifos Yeiaen) # Fe1amars :-

D) reiereret

2) e

3) Yeiperet

4) afsar

Ques # :52

YACC stands for :-

1) Yet Accepted compiler construction
2) Yet another compiler -compiler

3) Yet Available compiler -compiler
4) Yet Another compiler construction

YACC §ac9d §

1) I veraes Frarser HergmeT
2) < AT FFISI-FHFITSoR

3) A2 AT FFUTS - FHFITS R
4) I HATET FFISA-FHATHAT

Ques # :53

Consider various forms of a program code for code optimisation. It is possible to optimise:-
1) Source code and intermidite code only

2) Intermidiate code and Target code only

3) Source code, Intermidiate code and Target code

4) Source code and Target code only

UF DA Fi3 F Affes T W A3 AfcasRa e F gt F RAar wY | F1s e
ﬁ?ﬂTGITWT%:-

1) Sraer @1 IS GUT SecTATSUC IS &l

2) gl e fATETE g2 el s

3) 1 F1E, secfAfRue Fig qurerfc Fig A

4) Fger G IS gUT eréfe HE A

Ques # :54
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In context of laxical analyser generator tool 'Lex', choose a valid statement about lex.yy.c:-
1) It is a document defining tool 'Lex'

2) Itis a Lex language program

3) It is compiler of tool 'Lex'

4) It is C language program generated from a Lex program by Lex compiler.

AfFaad WATATEIR TR T "Lex" & e H, lex.yy.c F IR 7 3T Fe1 &7 777 Y-
D 71g "Lex" &t aRanfa &t arerm Stagaic &

2) Ig "Lex" HTNT &7 Teh WIITH &

3) Ig Tl "Lex" T HFATSOR &

4) Ig "Lex" HEASER SaRT "Lex" NATH A et (NATHE)

Ques # :55

Which of the following is a function of an Editor ?
1) Replace

2) Tracing

3) Gait

4) Watch

A A slaarw R FTFHE -
1) Replace(RTeRT)

2) Tracing (¢{49T)

3) Gait(3e)

4) Watch(akll?al')

Ques # :56

Consider task T1: control execution speed , T2: search a word, T3: delete a paragraph and T4: Track flow of
execution. Choose appropriate match :-

D) Debugger: T1,T4q2r ufgex : T2, T3
2) Debugger: T2,T3 9T Uf3eX : T1, T4
3) Debugger: T1,T3 9T Uf3eT : T2, T4
4) Debugger: T2,T4 dUT Uf3eX : T1, T3

H1Af T1 : WA CFAFIHA I TAAAOT ;T2 :206q Y @ ; T3 : e I AT TUT T4 :
TFHFYHA & JATE T Ao T@AT , W TR F | STGFd AT HT 98 |

D) feeR: T1,T4 T ufgex : T2, T3

2) fee@IX: T2,T3 TUT Uf8eT : T1, T4

3) fa99r: T1,T3 T TfgeT : T2, T4

4) S9N T2,T4 AT UEeT: T1, T3

Ques # :57

The least intuitive category among four categorities of Flynn's classification scheme for serial and parallel
computer architecture is :-

1) SISD
2) SIMD
3) MISD
4) MIMD
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FHIAF TT AHATATGR FYEI WIGT 8] Tl T Bferet Fefiaor & ar qoif & ¥, T FH7 qgor
39N gl g1 arem qot § ;-
1) SISD
2) SIMD

3) MISD
4) MIMD

Ques # :58

Mobility management task that ensures connectivity of mobile node to the network, when the node moves from
one cell to another cell, is :-

1) Adaptibility Management
2) Location management

3) Hand off Management

4) Switching Management

MRS JauF w1, A Aa$er A1s A Aca® § FafFeAd gARTT FaTd, FaFAS THF AT A
O AT A ST e, FEATATE :-

1) vefeefafafe dasiie (yetme)

2) e Haerie

3) E=3iTe FAee

) feafiar daereie

Ques # :59

In WLAN which of the following services is not provided by Distribution system ?
1) Association

2) Distribution

3) Authentication

4) Integration

WLAN #, et & @ Slarelt dar RBResqaer e g@ry yeoret gt i et &
D srafaees

?) Bz

3) sitAfreher

4) seearerT

Ques # :60

WLAN security standard make use of IEEE802.1x, port based network access protocol, for the purpose of :-
1) Authentication protocol

2) Generaing Master Session key(MSK)

3) Both Authentication protocol and Generaing Master Session key(MSK)

4) Neither Authentication protocol nor Generaing Master Session key(MSK)

WLAN RFIRE , fEaTs seas waiw Wiersier IEEES02.1X T 39T et 337 & faw &
T

1) sireifednerT ietatar

2) ATET T &1 (MSK) 3cTeeT el & T

3) 3iteifeanereT Teteriel dUT AT V2T I (MSK) 3cTeed el & ToIT

4) 77 &Y aY 3T WeTTer 3T AT &) ATEST V2T T (MSK) 3o+ el & faw
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Ques # :61

Components of e-commerce business model includes : I: A value propogation, competative enviorenment and
Revenue model II: Market strategy , organizational development and management team

1) Only I

2) Only 11
3)Both I and II
4) Neither I nor II

$-HTAY YTHTT ANS & Heh! 7 AMAA & :- I: AGccd YR, FfaTaefiardaraoer aur Isrea Asd 11:
D) &aer1

2) &raet 111

3) 1qar 1 &t

Dargri,arérn

Ques # :62

Consider a CSMA/CD network that transmits data at a rate of 100 Mbps (108 bits per second) over a 1 km
(kilometer) cable with no repeaters. If the minimum frame size required for this network is 1250 bytes, what is
the signal speed (km/sec) in the cable?

1) 8000

2) 10000
3) 16000
4) 20000

T&H CSMA/CD AEd& 100 Mbps (108 fae afd §%3) Fr 3T & 1 km (Fratsdie) awdt Faer garr
s Rited adi } , 3e1 grafAe Fxa1 ¥ | a7 39 Aca® & v ~gaan $a A 1250 a8¢H F13

A FaTH signal speed (km/sec) H 1 gl :-
1) 8000
2) 10000
3) 16000
4) 20000

Ques # :63

A virtual keyboard is diplayed on computer screen while using internet banking to avoid passwords captured
by ----- and other similar softwers :-

1) Adware

2) Cookie

3) Sniffer

4) Keylogger

_ a9 3HE SN HIAFed) g IrHas gfAe @ aure & fAv, seese dfher & vaer ava
A FY Thret W ade h1-a1S wefdia Brar smar @ -

1) wgaww

2) @y

3) fesre

1) FroeR

Ques # :64

----- Have a micro -chip embeded on it:-
1) Smart card
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2) Credit card
3) Debit card
4) All of these

__ WU AR S §¥(TFSE) Tl ¢ -
D gAré &g

2) yfee#rs

3) e # 1

4) g q|sh

Ques # :65

Let 'S' sends a message 'M' to 'R' in an e-commerce transaction . Security aspect non-repudiation in this
transaction means:-

1) M must not be disclosed to anybody except to R
2) Preventing 'S' from denial, beign sender of M

3) M received to R is same as send by S

4) S and R are sure of each others identity

HIAT U § -HIAY cratararet # 'S' Tah AU "M WTocdahdl 'R’ HY AT § | Toh FI&T Ige] " il
YGERAAA" T §H SISIFAAH I g1 -

D M foret 3ik w afee s g, e R &

2) M ST IVH B A, S & F B AHATHA

) RFTUTCa M SF I g, Srar s & 9k g fwar

4) s AT R T gAY Y IETT B o GlATRAd §

Ques # :66

In an e-commerce transaction performed on Pay-tm , Which fo the following payment modes is not an e-
payment?

1) Cash on delievery payment

2) e-wallet payment

3) Debit card payment

4) Net banking payment

4. 8.0, W foreurfee v §-FiaA gloteera &, e 7 § Flaa, sgeran &1 adier §- S adie -
D cop -sprarer

Ques # :67

Which ordered pair correctly represnts the data structures used in implementing graph traversing algorithms
BFS & DFS ?

1) (Queue , Stack )
2) (Stack , Queue )
3) (Stack , Stack )

4) (Queue , Queue )

TATH A Y HEINNAA BFS TUT DFS & FATeaeT 7 T SICT FCFAIH FI G Tl HiAd IIA
g?

1) (Queue , Stack )
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2) (Stack , Queue )
3) (Stack , Stack )
4) (Queue , Queue )

Ques # :68

In Data warehouse, OLAP operation that performs aggregation on data cube, either by dimension reduction
or by climbing up in concept hierarchy is :-

1) Pivot

2) Drill-down

3) Slice and dice

4) Roll -up

STETAAT §13W A , STAAAT NSTFHeT AT FIATE FIIHT FATSTFEIT & SIRT STET FF YT Tareret
&TeT ATeAT OLAP 3TARAT & :-

1) Pivot(ursae)

2) Drill-down (fge-813)

3) Slice and dice(¥ell$H UUS SIS H)

4) Roll -up(eT-379)

Ques # :69

In data mining k-means method is used for the purpose of:-
1) Data cleaning

2) Data Reduction

3) Clustering by partiioning

4) Outlier detection

sTeT AT 7 k-ATeT fafty v 3adew 3 e A A St -
D) grer Frofaiar

2) greT fgerereT

3) Ferereiier ST UrfeerfaeT

1) TFearr fBearre

Ques # :70

In datamining chi-square(y?) test is used for :-

1)  Correlation analysis
2)  Data cube aggregation
3)  Smoothing data

4)  Clustering

STeT ATSTHIT H FrE-TFa(x?) TET0T &7 96T

T s T Faraar g
D) #RoeE wafafad
2 3rer e e

3 s
1) FoeeEr
Ques # :71

A multidimensional database schema with one central fact table and one table for each dimension is called:-
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1) Snow -flake schema
2) Star schema
3) Fact -constellation schema
4) Hybrid schema

TF AT THIAT TTH TF Fea 1T thae & dUT g STIANA &Y UF aaol gidll §, Fedrar &

D) wAr-wroles e

2) R EHAT

3) there i OIRIST THIAT
4) grafys T

Ques # :72

Which of the following is not a measure of dispersion of data :-
1) Median

2) Range

3) Standard deviation

4) Variance

foraer 3 @ e Rwwran e (Readsten) 1 ATaF T8 ¥ -
1) Afegerr #ifzge)

2) afER({=)

3) yATOT/ATTH T (eSS sfauem)

4) gaoT dRT=)

Ques # :73

Pumping lemma for regualr sets is used to:-
1) Prove that certain sets are regular

2) Prove that certain sets are not regualr

3) Generate context free language

4) Generate context sensetive language

" TR e & FAre oA AT ST A o e d -
D) g5 dca 1 Prrer fag & & fow

2) g g et &5 FOIT S s r T gor T &

3) Siceeee P dedet FTeie(3cdee) i & faw

1) FlreaEe AT 7da FTelke et & farw

Ques # :74

For sampling of a large dataset D, n-tuples of D were divided into multiple disjoint subsets, then Random
sampling was applied an each subset to obtain a sample of D. Sampling of D is :-

1) Cluster sampling
2) Partial sampling
3) Stratified sampling
4) Ramdom sampling

U 85 S1eT HE D I AU &, D & n - TIeH FI HY 95 AR JHIF 39- oAl # fsmfora w3
foram T g3 39wHT W A Aeafaiar FT, D 1 Fuer uree T |D H deafoir Fgarea -

D) ey dwafair

2) qfferer dFafoiar
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3) Ferfewres QFafarer
1) ea QFafeir

Ques # :75

Which of the following is not a tier in three- tier architecture of dataware house?
1) Data warehouse server

2) OLE-DB

3) OLAP server

4) Front -end client tool

AT A @ S, SR FTFT A 3 - 3R TIAT R v I AT & -

D) grerdat g3a IR
2) OLE-DB

3) OLAPHET
4) the-uug.- FelTEe Tod

Ques # :76

In a mobile network, a location management scheme conceptually consists of two operations namely ---and ---

1) Sort and search

2) Read and write

3) search and hand off
4) Search register /update

THh AESd Acds A, AHhe Adsic R AdgidF I Fanst . qar Faad i -
D gfé qur =t

2) s g TS

3) &t o €3 37T

4) g T WSEeT/3Tse

Ques # :77

In mobile networks state or false I: location management assists in establishing new-connection II: Handoff
ensure connectivity of mobile node to the network

1) I-true and II -false
2) I-true and II -true

3) I-false and II -true
4) I-false and II -false

Ao AT A T YT W TdIST: [: NHAA AATHAC AT HodFersT TIRT F I A WgIF ¢
11: §USIHTE ANGTS AIS FT AcaTH & AT FoAw2re FaArad FHLe1 ¢

D Lgcg da 11 -3r8cT

2) |- T U 11 -8

3) 13T U 11 -Hc

4) 1379 U 11 -379<T

Ques # :78

In mobile computing which of the following is not a dynamic update scheme of location management:-
1) Periodic updates
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2) Movement -based updates
3) Cost -based -update
4) Distance -based updates

AYaTEer SO & fovwet & @ Fheralt AvdvereT Hevsrie Y STATRE HSe TR g Y 2
D) Refrifs srate
2) Fade-ATe HOTH
3) ree-aFe IR
4) feedw-aee 3w

Ques # :79

If values 33,42,38,12,22 and 77 are inserted insequence, into initially empty, Linear open addressing hash
table gaving 10 buckets of single slot with linear probing and hash function h(k) = k nod 10. In which bucket
No. (numbered 0 to 9) value 22 falls?

1) 4
2) 2
3) 8
4) 6

HFS H @rell fAfAIR 30T w39, fafaaw W, 10 s&he (1 Tete 9fa 9%e) IUT h(k) = k A 10 g2r
BFH dTell Ueh g2 el 7 33, 42, 38, 12,22, TAT 77 H HAA: T3T fHAT | 4T 22 FiadH a8e . 0

J9) H A |
1) 4

2) 2

3) 8

4) 6

Ques # :80

Let M1 is a single tape turing machine simulating a multi-tape turning machine M (k-tapes) . Time taken by
M1 to simulate n moves of M, considering 'k’ as constant , is given by :-

D om?

O(n)
3) O(nk}
4) O(k")

ATAT M1 U fiarer &9 egfer wrefler @ Y v ARy TRer #afie M (k Tow) it Rgee w3t § |k
Y 3R AT §T, M & n eI HY FAAAT FI & M1 @RI FAT ST GTell HHY g1 -
1) O(n2}

2 om)
3) O(n¥)
4) O(k")

Ques # :81

Which one of the following is the tightest bound that represents the time compexity of inserting an object into
a binary search tree of n nodes?

1) O(1)
2) O(log n)
3) O(n)
4) O(n log n)
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AT # F FI9AT 9@ TG 3T 91303 § ) TEA0 T & & n ASH H UF JATsoige swAc

F FY TEH FFECATFHE F) ST g
1) O(1)

2) O(log n)

3) O(n)

4) O(n log n)

Ques # :82

An index is clustered, if :-

1) Itis on a set of fields that from a candidate key.

2) It is on a set of fields that include the primary key.

3) The data records of the file are organized in the same order as the data entries of the index.

4) The data records of the file are organized not in the same order as the data entries of the index

TS S3FH,FIECS o e :-

1) sgerr feiwor 08 Fres W el ot Fdige Hraam &

2) 35T fEiRoT 0 Hres W EY foete ursady fr afFafaa g

3) BrEet & ST Nehis I8 3TET & Harfod g SHaT S8y 7 37 T Harfod &

4) ST & 32T RS 3T 3T & G AT 81 ST 397 & 3eT U Harfed

Ques # :83

What is the time complexity of Bellman-Ford single-source shortest path algorithm on a completegraph of n
vertices?

1) ®(n?)
2) ®(nZlog n)
3) O(n?)
4) ©(n3log n)

do e I Rerer IRF AT I IremReH A n RS F FFuellc T% & AT eEH FFrcaTdId
Wﬁﬂﬁ:-

1) ©(n2)

2) ®(n2log n)

> o)

4) ®(nlog n)

Ques # :84

What is the logical translation of the following statement? “None of my friends are perfect.”
) 3x(F (x)A =P(x))

2) 3% (= F (X)A P(X))

3) 3x (=F (x)A=P(x))

4 =3 x (F (x)AP(X))

fAfAf@a FUa w1 Aol ST F4T 8191 “None of my friends are perfect.”
1) 3Ix(F (x)n ~P(x))

2) Ax (~F (x)A P(x))

3) 3x (=F (x)A=P(x))

4)
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=3 x (F (x)A P(x))
Ques # :85

The cost of minimum cost spanning
tree of the following graph is

1) 72
2) 73
3) 74
4) 75

fafams sice T & & & aftlg o
i A=A wiee &1 e Hifaw)

1) 72
2) 73
3) 74
4) 75
Ques # :86

One of the purposes of using intermediate code in compilers is to

1) Make parsing and semantic analysis simpler

2) Improve error recovery and error reporting

3) Increase the chances of reusing the machine-independent code optimizer in other compliers
4) Improve the register allocation

FHER # SARTE AT F 3T F I AT TH ST ¢ T :-

D) qifder qar Refes wfafaa = v sam=m

2) TR gy q2m WX RANFET ST gk F=1eT

3) F2fieT ARSI i NTECATER & 31T FrTger 7 GeT: ST & HHGATH Y Faralm
4) ITIEST 3TAH 2T Y Sgal TeATAT
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Ques # :87

Consider the pseudocode given below.

The function Dosomething () takes as argument a pointer to the

root of an arbitrary tree represented by the leftMostChild-rightSibling
representation. Each node of the tree is of type treeMode.

typedefstructireeMode” treeptr;
StructtreeMNode

{

TreeptrleftMostchild, rightSibiling;

I3

IntDosomething (treeptr tree)

{

int value =0:

if (tree | = NULL) {

If (tree -=leftMostchild == NULL)

else

value = Dosomething (tree-=leftMostchild);
value = value + Dosometing (tree-=rightsibiling);

}

return (value);

}

When the pointer to the root of a tree is passed as the
argument to DoSomething, the value returned by the function
corresponds to the

1) Number of internal nodes in the tree

2) Height of the tree

3) Number of nodes without a right sibling in the tree

4) Number of leaf nodes in the tree

28/52



24/06/2016 College Lecturer Exam - Computer-Science-|

frfafad 991 15 ¥ JMR W aaT |
Dosomething () IRITHC & &Y & Teh HRTGCWIC! & & Bl G5t
&I dE o/dl & 99T 38 leftMostChild-rightSibling representation ZarT
Neire F4T & |

Each node of the tree is of type treeMode.
typedefstructireeMode” treeptr;
StructtreeNode

{
TreeptrleftMostchild, rightSibiling;

k
IntDosomething (treeptr tree)

{

int value =0;

if (tree | = NULL) {

If (tree -=leftMostchild = = NULL)

else

value = Dosomething (tree-=leftMostchild);
value = value + Dosometing (tree-=rightsibiling);

}

return (value);

}
Sid ¢ ® &I DoSomething() & IRIIHAC & & 7 IR fhar I ar

HeRE dog & w1 & Feafaf@a # &= e s |
D) & 3 geoter s iy wwean

2) &rrgse

3) & Y 37 Argw T T S Tge et g g
4) & 1 N sy i dear

Ques # :88

Consider the following relational schema:

Employee (empld, empName, empDept)

Customer (custld custName, salesRepld, rating)

SalesRepld is a foreign key referring to empld of the employee relation.
Assume that eachemployee makes a sale to at least one customer.
What does the following query return?

SELECT empMName

FROM employee E

WHERE NOT EXISTS (SELECT custld

FROM customer C

WHERE C._ salesRepld = E. empld

AND C. rating <= ‘GO0OD")

1) Names of all the employees with at least one of their customers having a ‘GOOD’ rating.
2) Names of all the employees with at most one of their customers having a ‘GOOD’ rating
3) Names of all the employees with none of their customers having a ‘GOOD’ rating.

4) Names of all the employees with all their customers having a ‘GOOD’ rating.
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rafaf@a § § va Reee ohEr §

Employee (empld, empName, empDept)
Customer (custld custName, salesRepld, rating)

SalesRepld U BN & ¢ =T TFCails el $hl A39ch & {0
FAl & TE AR I ol TFCells &H O &H Uh HicdA] & O

AT § A1 FEafai@a @l @ R &

SELECT empMame

FROM employee E

WHERE NOTEXISTS (SELECT custld
FROM customer C

WHERE C. salesRepld = E. empld
AND C. rating <= ‘GOQ0OD")

D) 357 trcalls & ATH 3o A ¥ FH Teh HECHAT & 'GOOD' W ¥
2) 31 UFCATS & ATH Toleteh 31RdH U SEcAT & 'GOOD' Iear g
3) 3o7 TFCAlE & ATH foreTdh frdY ol FEcHT & 'GOOD' YT 78T &
) 3T TFECAIS & oATH Totetah Fofl AT & 'GOOD! T &

Ques # :89

Let R= (A,B,C) & rland r2 both be relations on schema R. The SQL expression Select * from r1 where
(A,B,C) in (select * from r2) is equivalent to

1) r1-r2
2) riNr2

3 rur2
Dr2-r1

& R R= (A,B,C) # for @& &) eroreh Ratere r1 31X r2 3 TFAT R @ wefifg § Meafaf@d SQL
expression & 3TN 9T 9410 Select * from r1 where (A,B,C) in (select * from r2) 3UAFd SQL

expression fAFATa@T 7 & fFad TARET§ :-
1) r1-r2

2) N2

3) rtur2

4 r2-r1

Ques # :90

The number of states in a minimal deterministic finite

Automation corresponding to the language
L={a"|nz4}is:

1)

2)

3)

4)

AN L b~ W

Language L ={a" |nz4}¥ Hcfig fAfema Bfafaites
BEMRIF FI TTH H TE& e -

1) 3
2) 4
3) 5
4) 6
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Ques # 91

LL grammar for the language L = {a"b™c" M| mz0, nz0} is
) 85 aSc|S1;S1—bS1c|A

2) §—aSc|S1/A: 51 —bS1c

3) 8 —aSc|S1A;S1—bS1c|A

Y s aSc|A:S1—bS1c|A

Language L = {a" bm ¢c™m | mz0, nz0}$r LL grammar FIT g9 ?
) S—aSc|S1:S1—bSic|A

2) s —aSc|S1A:S1—bSic
3) S —aSc|S1|A;S1—bS1c|A

4 s aSc|A;S1—bSiclA

Ques # :92

A simple graph G with n-vertices is connected if the graph has
D(n=1)(n-2)/2 edges

2)ymore than(n—1) (n— 2)/2 edges

3) less than (n—1) (n - 2)/2 edges

4 $k-4C(n;, 2) edges

TF R IF G R I/ 8, FAFeS I1% g Ife 3HA v Y FEATEY :-
D (n=1)(n-2)/2 edges

2)(n=1) (n—2)/2 edges ¥ A=+

3) (n=1) (n-2)/2 edges ¥ 3=

4) Tk-4C(n;, 2) edges

Ques # 93

Which of the following connected simple graph has exactly one spanning tree ?
1) Complete graph

2) Hamiltonian graph

3) Euler graph

4) None of these

ffaf@a & ¥ #loa Faiees Rua 16 & Faa v TAfAT &g
D) srrgeiic a6

2) ¢ O

3) 2o 7

Y g1 A 1S A

Ques # :94

Data marts that incorporate data mining tools to extract sets of data are called
1) Independent data mart

2) Dependent data marts

3) Intra-entry data mart

4) Inter-entry data mart
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3T ATCH AT 31 & vareeaereT & forw Afaer o Woreet @), FT Fg @ -

D) gfzdge serame
2) f3de SeT AT

3) TeeTUeY ST ATE
4) ST STET ATE

Ques # :95

The solution of recurrence relation,T(n) = 2T(floor ( n1/2)) + log(n) is
1) O(n log loglogn)

2) O(n log logn)

3) O(log logn)

4) O(logn log logn)

Reewr R T(n) = 2T(floor ( n1/2)) + log(n) FT WIeTLAT FT 1 :-
1) O(n log loglogn)

2) O(n log logn)

3) O(log logn)

4) O(logn log logn)

Ques # :96

A B+ tree index is to be built on the name attribute of the relation STUDENT. Assume that all students names
are of length 8 bytes, disk block are of size 512 bytes and index pointers are of size 4 bytes. Given this
scenario what would be the best choice of the degree (i.e. the number of pointers per node) of the B+ tree ?

1) 16
2) 42
3) 43
4) 44

UF B+ & & $390 $ T3¢ N & AA TEISYT & HTUR G ST A1 & | A iy woft egdew &

ST &Y oo 8 ACH &, F3EF ol &1 WISST 512 98¢ § TYUT S3FH TSy FT ISl 4 915¢H 8| 59
IRET & YR W ga fF B+ & & AT gdass aN$q 41 g9l 3raTa ufa s aiged i gear =4
Fﬁﬁ):-

1) 16

2) 42

3) 43

4) 44

Ques # :97

The problem that occurs when one transaction updates a database item and then the transaction fails for some
reason is

1) Temporary select problem
2) Temporary modify problem
3) Dirty read problem

4) None of these

9 P grorarere fFH) 3TTaA TSTH FY IIST FX 3T § TUT AGIWIedt [ha) HRUT F I§ TroAFAT
el g1 SITaT § Y ¥y GATAT R FEd & -

D) 273l gaee gl A

2) TFY AfRHTS wlearH

3) 5éf 815 Treold
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Y g A 1S oA

Ques # :98

Consider a schema R(A, B, C, D) and functional dependencies
A =2 BandC—> D. Thenthe decomposition R1(A, B)and R2(C, D) is

1) Dependency preserving but not lossless join
2) Dependency preserving and lossless join

3) Lossless Join but not dependency preserving
4) Lossless Join

U+ THATR(A, B, C, D) ¢ =@ s f39sd=s
A->BandC-> D § of SHF Sheioeld Thar
R1(A, B) JUTR2(C, D)% X & Fiaw FuF Tl 2 |

D faise Rrafder § fareg ataerd sarg a8t &
2) ey rerfder § aur lgerd sars &

3) dterera saTse § R BUseh e i &
4) shael iEgeg sars &

Ques # :99

The Kimball’s iterative data warehouse development approach drew on decades of experience to develop the

1) Business Dimensional Lifecycle
2) Data Warehouse Dimension

3) Business Definition Lifecycle
4) OLAP Dimension

Kimball FT 3T 3TRAITETIH saercaie TR H F$ Gl F U 37T F HTUR T FAT 5qe9
-

D) f[9oaig sIaiereT aIsharsse

2) 3eTaeRE3Y ST

3) fasterer SRR AShaTSHe

4) OLAP SrI#ere

Ques # :100

Consider the regular expression (a + b)(a + b) ... (a + b) (n-times). The minimum number of states in finite
automaton that recognizes the language represented by this regular expression contains

1) n states
2)n + 1 states
3) n + 2 states
4) 2n states

Th QT{FIT TFEYLAST (a + b)(a + b) ... (a + b) (n-times). g | tFIé?ﬂg?.' %Y minimum number of states
AT FX AT W WY TFENAT garT RAsiees ofadsr w1 Repeaarser #:1 a3:-

1) n states

2) n + 1 states
3) n + 2 states
4) 2n states

Ques # :101
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Match the following : (i) Regular Grammar (a) Pushdown Automaton (ii) Context free Grammar (b)
Linearboundedautomaton (iii) Unrestricted Grammar (c) Deterministic finite automaton (iv) Context Sensitive
Grammar (d) Turingmachine

1) (i)-c,(ii)-a,(iii)-b,(iv)-d
2) (i)-c,(ii)-a,(iii)-d,(iv)-b
3) (i)-c,(ii)-b,(iii)-a, (iv)-d
4) (i)-c,(ii)-b,(iii)-d,(iv)-a

el Gﬂ?{ FTRATT A : (i) Regular Grammar (a) Pushdown Automaton (ii) Context free Grammar
(b) Linearboundedautomaton (iii) Unrestricted Grammar (c¢) Deterministic finite automaton (iv)
Context Sensitive Grammar (d) Turingmachine

1) (1)-c,(i1)-a,(iii)-b,(iv)-d

2) (1)-c,(i1)-a,(1i1)-d,(iv)-b

3) (i)-c,(ii)-b,(iii)-a,(iv)-d

4) (1)-c,(i1)-b,(ii1)-d,(iv)-a

Ques # :102

The worst case time complexity of AVL tree is better in comparison to binary search tree for
1) Search and Insert Operations

2) Search and Delete Operations

3) Insert and Delete Operations

4) Search, Insert and Delete Operations

AVL & 1 a8 eTew FFcafead) & et areard o & fier SR & fre dga? gom:-
1) Search T Insert 3iTaXereT

2) Search T Delete 3ol

3) Insert IUT Delete 3Ta2reT

4) Search, Insert T Delete 3ATOReT

Ques # :103

If the parse tree of a word w generated by a Chomsky normal form grammar has no path of length greater
than i, then the word w is of length

1) No greater than 2i+1
2) No greater than 2i
3) No greater than 2i—1
4) No greater than i

Elﬂ'Chomsky normal form grammarmmﬁWﬂmﬁﬁmwmﬂﬁ%mﬁﬂ
gl |

D 2i+1 & samer 71t

2) 2i @ STET AET

3) 2i-1 & STeT LT

4) | ¥ STer g

Ques # :104

If a relation with a Schema R is decomposed into two

relations R1 and R2 such that (R1 w R2)=R1 then

which one of the following is to be satisfied for a

lossless joint decomposition (— indicates functional dependency)
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D (R1~R2)—>R10rR1 ~R2 » R2
2) R1~R2->RI1

3) R1~R2->R2
49 R1~R2—- R1andR1~ R2— R2

% e S8F &FA R T o8 B g Neneg
R1JMR2H 50 R Far smar & & (R1UR2)=R18T
qfEat™ & oeaef@a & & Fi98T F1F T8 & of I8

lossless joint decomposition =T |(— indicates functional dependency)

D (R1~R2)>R10rR1 ~nR2 - R2
2) R1~R2->R1

3) R1~AR25R2
4 R1~R2-R1andR1~R2 - R2

Ques # :105

A grammar G is LL(1) if and only if the following conditions
hold for two distinct productions A — a | B
|. First (a) N First (B) # {a} wherea is some terminal

symbol of the grammar.
Il. First (a) N First (B) # A
ll. First (a) N Follow (A) = ¢ if A eFirst (B)

1) Iand II

2) I and III

3) IT and III
4) All of these

T+ grammar G LL(1)@eT afg 3 9 +==F a=
ratef@a #3nw g iBfdse e R= A - o B
% forr @ &t-

. First (a) N First (B) # {a} ST&F a AR F e

s Toe=er &
Il. First (a) N First (B) # A
I1I. First (a) N Follow (A) = ¢ if A €First (B)

1) 1 I

2) 1 T

3) 1T JATIII

4) All of these
Ques # :106

An IP router with a Maximum Transmission Unit (MTU) of 1500 bytes has received an IP packet of size 4404
bytes with an IP header of length 20 bytes. The values of the relevant fields in the header of the third IP
fragment generated by the router for this packet are

1) MF bit: 0, Datagram Length: 1444; Offset: 370
2) MF bit: 1, Datagram Length: 1424; Offset: 185
3) MF bit: 1, Datagram Length: 1500; Offset: 370
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4) MF bit: 0, Datagram Length: 1424; Offset: 2960

TS [P 3T fAWHT Maximum Transmission Unit (MTU) of 1500 bytes & Tsh 4404 F IP Y&He Hr
Tod T & fad [P header FY oY 20 byte § 38 e F forw U3eT g@RT LS third IP fragment
¥ # we it doga 1 A% gior -

1) MF bit: 0, Datagram Length: 1444; Offset: 370

2) MF bit: 1, Datagram Length: 1424; Offset: 185

3) MF bit: 1, Datagram Length: 1500; Offset: 370
4) MF bit: 0, Datagram Length: 1424; Offset: 2960

Ques # :107

An algorithm performs (log N )2 find operations,

N insert operations, (log N )2 delete operations,
and (log N )2 decrease-key operations on a set of
data items with keys drawn from a linearly ordered
set. For a delete operation, a pointer is provided to
the record that must be deleted. For the decrease-key
operation, a pointer is provided to the record that has
its key decreased. Which one of the following data
structures is the most suited for the algorithm to use,
if the goal is to achieve the best total asymptotic
complexity considering all the operations?

1) Unsorted array

2) Min-heap

3) Sorted array

4) Sorted doubly linked list

T Heaied frar 8T A% 337 3eer T T (log N )12
find operations, N insert operations, (log N )2 delete operations,
2T (log N )2 decrease-key operations fraT=aq +3ar § @

forgshr F el 3Es ¥ @ & mf & | Bl dnRE F
for el w5t aror R #t 30T Ftar g 95X 390 £ |
decrease-key YT ¥ for 3@ =g #1 9gx ¥ S
key decrease FT&AT § | TT HTIRIT F1 <A # @I g TA0
fr mafof@a & & siaar sa T seies F oo

TIW ITIFT BN Tl HEINTRHA FT 36827 best total

asymptotic complexity S 9red it T § ?
1) Unsorted array
2) Min-heap
3) Sorted array
4) Sorted doubly linked list

Ques # :108

According to the IEEE Project 802.11, there are two types of wireless LAN. In an infrastructured -based
network , what is a BSA (Basic Service Area ) :-

1) A BSA is wireless station

2) A BSA is a gateway connects a wireless station to a network
3) A BSA is simply a cell

4) A BSA is another word for server
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IEEE Project 802.11 WﬂW*WﬂH%MWWWﬁBaSiC Service
Area (BSA) FITEIAT§ :-

1) BSA ter aratel e T &

2) BSA Teh 91ed & ST arICel TE20T I Aeadh § holee il &

3) BSA U GrHAT AT &

4) BSA TR & forw sgard e &

Ques # :109

When calculating the data rates for LMDS, capacity is the number of cell sites multiplied by which of the
following?

1) The capacity per cell site

2) The number of cells

3) The number of sectors in the cell site
4) The sector capacity

LMDS 3 32T 3¢H FY 07T Fa AT A & fAT number of cell sites T fre=t 7 § fFraay apom

R ST § -

1) The capacity per cell site

2) The number of cells

3) The number of sectors in the cell site
4) The sector capacity

Ques # :110

The GSM cellular radio system uses GMSK in a 200-kHz, with a channel data rate of 270.833 kbps. Calculate
the frequency shift between mark and space in kHz?

1) 135.4165
2) 153.6514
3)315.4651
4)513.1654

Tah GSM cellular radio system, GMSK T 3TN 200-kH H FIAT % 41 $HRI channel data rate of

270.833 kbps & 5°% mark 9T space & 1T frequency shift FY ITOTAT kHz # Ao

1) 135.4165
2) 153.6514
3) 315.4651
4) 513.1654

Ques # :111

Using public key cryptography, X adds a digital

signature o to message M, encrypts <M, o>,

andsendsitto Y, where it is decrypted. Which

one of the following sequences of keys is

used for theoperations?
1) Encryption: X’s private key followed by Y’s private key; Decryption: X’s public key followedby Y’s public key
2) Encryption: X’s private key followed by Y’s public key; Decryption: X’s public key followedby Y’s private key
3) Encryption: X’s public key followed by Y’s private key; Decryption: Y’s public key followedby X’s private key
4) Encryption: X’s private key followed by Y’s public key; Decryption: Y’s private key followedby X’s public key
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public key cryptography T 393RT F{d g X TH IS
fiee=IT o F Message M, & S1=ar &, <M, o> T encrypts
FEOTE RTSH Y F 9F IS & § I T decrypt FGT
g |meataf@a & ¥ Siadr keys FT Si@aT &9 HOEH
FI F=F F T 37T F 3mET |

1) Encryption: X’s private key followed by Y’s private key; Decryption: X’s public key followedby Y’s
public key

2) Encryption: X’s private key followed by Y’s public key; Decryption: X’s public key followedby Y’s
private key

3) Encryption: X’s public key followed by Y’s private key; Decryption: Y’s public key followedby X’s
private key

4) Encryption: X’s private key followed by Y’s public key; Decryption: Y’s private key followedby X’s
public key

Ques # :112

Determine the maximum length of the cable (in km) for transmitting data at a rate of 500 Mbps in an Ethernet
LAN with frames of size 10,000 bits. Assume the signal speed in the cable to be 2,00,000 km/s.

H 1
2) 2
3) 25
4y 5

UF Eithernet LAN me WI# cable T 3 length (km 3) Y 70T Y HY 500 Mbps FT T {
3T TTAT T TF TR BFT ST TS 10,000 bits 8Y | AT Y Fae & f{adter Y T15 2,00,000 km
yfadss g

1

2) 2

3) 25

4) 5

Ques # :113

A priority queue is implemented as a Max-Heap. Initially, it has 5 elements. The level-order traversal of the
heap is: 10, 8, 5, 3, 2. Two new elements 1 and 7 are inserted into the heap in that order. The level-order
traversal of the heap after the insertion of the elements is

1)10,8,7,3,2,1,5
2)10,8,7,2,3,1,5
3)10,8,7,1,2,3,5
4)10,8,7,5,3,2, 1

T priority queue,Max-Heap & TT H SFCAIHCS § | TRFEH H 3UHA 5 Ui § | §1T T daer 3T
adT 10, 8, 5, 3, 2 ¥ | &Y o7 vfiew 1 qur 7 Y 5 o7 F v A gewe rar ST ¥ | T FA
SiTet Tl & 3UIT TTTHCH FT gl 3TST STA g1 |

Ques # :114

A complete binary tree of depth 5 has
1) 15 nodes
2) 25 nodes
3) 63 nodes
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4) 33 nodes

UF depth 5 F FFYOT a3t & F Argw gl «-
D 157"
2) 25 ArgE
3) 63 FArsH
4) 33 sgd

Ques # :115

The following sequence are inserted into a binary search tree : 6 10 25 12 4 7 15 8 33 What is the type of
traversal given by:

1) Inorder

2) Postorder
3) Preorder

4) Level order

TS a5 &1 A s afolTa si@er seac Y SATAT € 6 10 25 12 4 7 15 8 33 HH type of traversal g9

1) Inorder

2) Postorder
3) Preorder

4) Level order

Ques # :116

Find the running time of the fastest algorithm to calculate the shortest path between any two vertices of a
graph where all edges have equal weights’.

D O(Vlog: V-E)
2 O(E + V)

3) O(V log V + E)
4 O((V + E)log V)

T WA P16 & AT TSt T AT AT @Y, Y &Y T & g F éTe Ire Y 01T et arer
I ST HEINNLH FT AT 5H ATT A |

D) O(Vlog: V-E)

2) OE +V)

3) O(V logz V + E)

4) O((V + E)logz V)

Ques # :117

Consider a language L for which there exists a Turning Machine (TM) T that accepts every word in L. and
either rejects of loops for every word that is not in L. The language L is:

1) NP hard

2) NP- complete

3) Recursive

4) Recursively enumerable

& oede L foae® faT U turing Machine T 39T § ST L & Tcde 2Teg F TEId HIdl ¢ TUT
UcAS 3 A FI AT L & AR & reject of loofs FIA & | 3T WHR Y HTWT g1=fT ;-

D Np e

2) NP- ®Fqeile
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3) Rpfia
4) Repfiaeh Ty e
Ques # :118

The logic of pumping lemma is a good example of
1) Pigeon hole principle

2) Recursion

3) Divide and conquer technique

4) Iteration

Pumping lemma &T A+ Arafaf@a # fae scoT 3grET g -
D e grer Rifaer

2) Rapote

3) fEarss UUE Hie deelle

4) sérerT

Ques # :119

A finite state machine having finite tape length without rewinding capability and unidirectional tape movement
is called

1) Turing machine
2) PDA

3) DFA

4) All of these

e réaTge T Aelter RO wrdege $ dter gY e Ramg R AR o g e £ a7 oy
giASTFeA &), FAT AT |

1) Turing machine
2) PDA
3) DFA

1) s & Tl

Ques # :120

A problem is NP-complete if

1) Answer can be verified quickly

2) A quick algorithm to solve this problem can be used to solve all other NP problems quickly
3) It can be solved in polynomial time

4) All of these

El-ﬂé'aﬂ' EI’I@_&'JTNP-complete gt Ife:-

D) 3cert 1 AR raheret Mo gy @h

2) SH Ylscld ol Aled e aTel quick TINRLH T 3T 3T NP-complete & 2frer JaTereT & foram
ST Heh

3) 58 QTR TISH # e T oif ¥

9 gorr 3 sl

Ques # :121

(G,”) is an abelian group. Then,

1) x=x1for any X belongingto G
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2) x=x2for any X belongingto G
3) (x*y)2 = x2 * x2for any x,y belonging to G

4) G is of finite order

(G,”) TfE TF abelian group & ar

1) x=x1forany X belongingto G

2) x=x2for any X belongingto G

3) (x*y)2 = x2 * x2for any x,y belonging to G
4) Gis of finite order

Ques # :122

The diagonoaliation language, Ly is a
1) Recursive language

2) Recursive enumerable but not recursive

3) Nor-recursively- enumerable(not-RE) language

4) Both ( Recursive enumerable but not recursive) and (Nor-recursively- enumerable(not-RE) language)

STOTTellawelel alea=r (diagonoaliation language),
LT AT Fdrdaa -
D) Rerfda ofedsr
2) Repfda AR feer ﬁa—c_,r Repfla gt
3) Fiet- R fiael =g faRfae dfadst (not -RE)

) (N fa vegfatfaa g Reflia 8 aar (@1a- R smgfafae dadet (not -RE) ) Akt

Ques # :123

If there is an NP-complete language L. whose complement is in NP, then the complement of any language in NP

is in

1) NP

2)P

3) Both NP and P
4) None of these

afe H-ﬂ%’ language L. NP-complete ¢ [T Siegede oY NP § oY fnddl sft language ST NP %’, )

E#qmﬁ?m:-
1) NP
2)P

3) NP 2T P )t

Y g1 A 1S A

Ques # :124
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The following CFGis in

S—» AB

B— CD

B— AD

B—* b

D— AD

D— d

A—> a

C— a
1) Chomsky normal form but not strong Chomsky normal form
2) Weak Chomsky normal form but not Chomsky normal form
3) Strong Chomsky normal form
4) Greibach normal form

oFafaf@a CFG g arer w & &

S— AB
B— CD
B— AD
B—" b

D— AD

A—r a
C— a

1) Chomsky normal form H g ﬁw_gf strong Chomsky normal form & sTgr
2) Weak Chomsky normal form p= %’ ﬁv_gf Chomsky normal form p= o_-lﬁ %’
3) Strong Chomsky normal form & &

4) Greibach normal form 37 g

Ques # :125

A cellular system is capable of coping with a handoffs once every 2 minutes. What is the maximum cell radius
if the system must be capable of working with cars traveling at highway speed of 120 km/hr?

1) 3km
2) 1 km
3) 4 km
4) 6 km

meﬁa’fﬁﬂ?ﬁwaﬂhandoffsﬁcopemﬁmm%@ﬁmﬂ
ﬁﬁnmﬂatﬁwwamuﬁﬁmﬁmﬁmmmwﬁdaaﬁmﬁ#mgé

FRY H ATNF EAT8Y :-
1) 3km
2) 1km
3) 4km
4) 6 km

Ques # :126

How often will hand-offs occur when vehicle travels through a CMTS at 100 km per hour speed if the distance
between cell sites is 10 km?

1) 6 mins
2) 12 mins
3) 395 sec
4) 10 hrs

Ife F1$ TS CMTS F ¥ 100 Frasfies wfaeer i a1fer & o ¢ aur S asew F Aw Hirgdi 10
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km & @Y handsoff fFE THY 37T & 81917 |
1) 6 mins

2) 12 mins

3) 395 sec

4) 10 hrs

Ques # :127

A star schema has what type of relationship between a dimension and fact table?
1) Many-to-many

2) One-to-one

3) One-to-many

4) All of the above.

oY TeR THAT & SIAAA IUT thare a9l & e wiaaT RAere g :-
D s g

2) g T I

3) ger g Al

1) s & gl

Ques # :128

A metadata repository contain all of the following except
1) Data warehouse schema

2) Operational metadata

3) The algorithms used for summarization

4) Business Reports

frdY Aer a1 Ruifoed # Amafaf@a # & siaar Reer afEafaa a8 g :-
1) geraaesa &

2) 3HTqereTer FeT SaT

3) FAERTSSI & 3UANT 7 37T aTor TealeH

) faorera R

Ques # :129

Concept hierarchies can be used to generalize data by replacing low-level values by higher-level abstractions
in:

1) Star Query

2) Snow Flake Query
3) Starnet query

4) Reduction Query

FTUCE FIFUHT HT 3TANT 3T F T ATFoIT A Aa A degal H FTAT AT TeEeHAT &
TAATART # fA@F=T & ¥ Fad fFarsran g -

D Zer Fad

2) &Arther A

3) EeReie Fal

4) Yt Fal

Ques # :130
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An iceberg cube is a data cube that stores only those cube cells that have an aggregate value
1) Above some minimum support threshold
2) Below some minimum support threshold
3) Equal to some minimum support threshold
4) No concern with minimum support threshold

ST 7Y U [ANT YFR &7 32T 44 BT § A1 Fal o8 God I HAfed HLar g forerah srafee
de:-

D) orcsr aate Jergies & ST 8

2) ST HUIE Y2Agtes A FA @

3) ST FANE IALTes & ISR &

4) FgeTaH FNE YARTes J FIS TFaeY 781 &

Ques # :131

Star-Cubing algorithm uses star-trees to compute an
1) Fully Connected Cube

2) Semi Connected Cube

3) Iceberg Cube

4) Snow Flake Cube

Star- Cubing TeaneH , TR &r T 39ANT fFF 7017 & fOw At & :-
D gell s a3

2) el Feres FqF

3) st

4) oI e

Ques # :132

The most common source of change data in refreshing a data warehouse is
1) Queryable change data

2) Cooperative change data

3) Logged change data

4) Snapshot change data

Y 327 39T E13F F1 Rob e F31 & T 3 2o FT ged vafdg Sa F
D) saRueer det 2er

2) &1 TR feq Jot ger

3) Hesde e

4) Felfe It gt

Ques # :133

The term that is not associated with data cleaning process is

1) Domain consistance
2) De-duplication

3) Disambiguation

4) Segmentation

ﬁmﬁﬁaﬁ#mﬁwﬁaﬁhﬁﬁrmﬁsﬁ@aﬁ%:-
D) S -saresy
2) 3. geeliehere
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3) frguadiTgeeT
K
4) Frardes

Ques # :134

Eclat (Equivalence Class Transformation) algorithm Mines using
1) Horizontal data format

2) Vertical data format

3) Mixed data format

4) Class Data Format

Eclat(3Faed FATT SEHIHIE) TemResd Hiade 3TgeH Aecd A A AT § Far suaor F aarg -
1) gifiiee a1 wisfe

2) gféanel ST hidle

3) fAeres Ser wiefe

4) FFarg ST BT

Ques # :135

Pruning a decision tree always

1) Increase the error rate

2) Reduce the size of the tree

3) Provide partitions with lower entropy
4) Provide partitions with higher entropy

e BT A A R e R A T FTA § -
D o e & e

2) grast 3iTh & & F FdT

3) V3R Ty & ATETRIeT ITeTet el &

4) ETIT UeIdY & qréfereT 3Ueet Sl &

Ques # :136

In decision tree algorithms applied to datasets with a large number of classes and numerical attributes, the
attribute selection method to avoid is:

1) Information gain
2) Gain ratio

3) Gini index

4) Dimension Fitting

ot f3fierer & veanRes &1 fohedl QA Seriew W 3rcens v e gt forerat agd ot ean A
FATHE TUT A RF wiegew g1 a et # & wlaan wdieyge worwrere #ys w7 7 781 forgm S
IR :-

1) seropraferst ot

2) e Yot

3) Gini 2258

4) srareiereT Refeer

Ques # :137

From the statement given below, choose a FALSE statement:-
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1) Exactly one path exists between each pair of vertices in a tree
2) Atree with [v| = 1 vertices , has |v| - 1 edges

3) The sum of degrees of vertices in a graph is twice the number of edges
4) Each connected graph has exactly one spanning tree

fa a1v Fyal & @ W FYF -

D) we & 3 o & geds Joa & e v 3R el U aT g &
2) vj=1 arer & & |v|-1 va g1t &

3) veh T 3 Tl Ars i et @1 2er, vott A Hewr & @ QYT &
4) & FoAFeS I H T 31X el Teh TTAT ST AT &

Ques # :138

Which pair of regular expression is not pair of equivalent expression ?
1) 1(01)* and (10)*1

2) x(xx)* and (xx)*x

3) x+ and x*x+

4) (ab)* and a*b*

YR TFAIAH T HIAHT J7H, AT TG TFAUAH T I3 A & :-
D 1001)* @ (10)*1

2) X(xx)* AT (xx)*x

3) x+ AT x*x+

4) (ab)* AT a*b*

Ques # :139

Consider the automation M given below and choose
a false statement:

)M is non-deteministic automation

2) 3(qq. 1) is defined

3) 0100111 is accepted by M

4) A String having even number of ‘0’s is accepted-by M

fe3r 1T AT M W T= Y 9 38T
FAT FT ITT HL-

2) 5(qq, 1) TGRS &
3) 0100111, M a1 i+ &
) o fegr 5w 0s 7H = # @M @@ B
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Ques # :140

The set of all strings over {a,b} having exactly three b's is represented by the regualr expression :-
1) a*bbb

2) a*ba*ba*ba*

3) a*ba*ba*b

4) ba*ba*b

{a,b} T 37 T TG & A Y, T19t lier 31 Faer i b &Y, gl aren WYoR vradeEEeT) §

1) a*bbb

2) a*ba*ba*ba*
3) a*ba*ba*b
4) ba*ba*b

Ques # :141

Choose correct increasing order of growth rates of asymptotic notations:-
1) 0(1),0(n),0(logn), O(nlogn), 0(n?), 0(2")
2) 0(1), O(logn), 0(n), O(nlogn), 0(2"),0(n?)
3) 0(1), 0(logn), O(n), O(nlogn), O(n?), 0(2")
4) 0(logn), 0(1), 0(nlogn), 0(n), O(n2), 0(2")

ﬂwﬂﬁmaﬁamﬁq@amaﬁw
),

1) 0(1),0(n).0(logn). O(nlogn), O(n 0(5”)
2) 0(1), 0(logn), O(n), O(nlogn), 0(2"),0(n?)
3) 0(1), 0(logn), O(n), O(nlogn), O(n), 0(2")
4) O(logn), 0(1), O(nlogn), 0(n), 0(n2), 0(2")

Ques # :142

Using dynamic programming approach, longest common subsequence (LCS) of two sequences of size n each,
may be computed in :-

1) O(n‘?}
2) 0{2”}
3 o(n?)
4) O(nlogz n)

n ATHR FT &Y RAFAAST HT AT AT FI-FAFAT(LCS), SRAATTAS NATFAT TNT F ATT FIA H
T qTell HHI:-

1) o(n?)

2) o(2m)

3) o(nd)

4) 0(nlogz n)

Ques # :143
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How many spanning trees can be formed from the graph given below -

€1
=¥
Graph G
e- es P
€3
1) 1
2) 5
3) 7
4) 8

i B v e F fhae T raaT A1 96 © o
€1

€4 e, GraphG

1)
2)
3)
4)

(o <N BRV) B

Ques # :144

Whatis weight of minimum cost spanning tree rooted
at ‘A’ extracted from the graph G given below:-

1) 20
2) 15
3) 9

4) 27
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7 fer 9T % G ¥ 9T g« 9 ‘fafeaw
FITT T & SHFT F€ &€ ‘A’ &, FT T4 g

Graph-G
1) 20
2) 15
3) 9
4) 27

Ques # :145

Considerthe graph G given below. The second
row of transitive closure path matrix, corresponding

to node ‘B’ will be :-

\

Graph-G
1) 01011
2) 00011
3) 00111
4) 00100

A & T % G W AR %Y | TRAS ay
(FiTafeT FareR) oo Fr fad 9T, Jr $r
Als B ¥ @Fafeug §, &l -

Graph-G
1) 01011
2) 00011
3) 00111
4) 00100

Ques # :146
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Association rules are always definedon___
1) Binary attribute

2) Single attribute

3) Relational database

4) Multidimensional attribute

YEATAT Fod Had TR W aRenfa Fd Jma ¢ -
D argerdy vérege

2) feerer vdisge

3) RerreTel Sy

4) AedETIFREe Tege

Ques # :147

Which of the following is a valid root of the given

B-tree after deleting key 20 ?

] . 20
/,»' r m\
| 3 | 7 1“1 22 | 24
b I { ! f b Tl !
IR I i
B-Tree
D & .22
) !
R S
2 5]
* ?
I
3) 8 .24
T 1LY !
S
R o
t Y !
D S

igZr 7w B4 & &t 20 &1 Befle ST & IWId
B-¢r @r 3fg ¢ A 7 & *iaar -

§ [ 20
//. I .‘k\
[3 [ 7 ] [11 ] 22 | 24
Tt ) ' ? T Y !
I bl i
B-Tree

50/52



24/06/2016 College Lecturer Exam - Computer-Science-|

b . 22
v |
11

2) 5]

? ?
L]

3) 8 | 24
t t
1

R O T
t LY ?
|

Ques # :148

Which of the following clustering analysis method uses multi resolution approach
1) STUNT

2) OPTICS

3) CLIQUE

4) Wave Cluster

fArfaf@a # & #1938 voelidas & fov g8 TIRPIT FAeeRer Y TaIFHar gt -
1) STUNT

2) OPTICS

3) CLIQUE

4) Wave Cluster

Ques # :149

Let 0=f<1 be thr faction of operations tht must be performed sequentially.
The maximum speed up S achieved by P parallel processors | as per
Amdahl’s law is given by :

1) S = Pi(f + (1-T)*P)
2) S = 1/(f + (1-f)/P)
3) S=P/(1-)

4) S=1/(P + 1)

AT 0<f<1 At &1 &Ad 7 & G901 & AT arar HT § |
THSIEA & WA ¥ , P e UES g@nt ariad fhar o1 ddhe
arer , 3f8san €5 317 S fEar & awar & -

1) S =PI+ (1-1)*P)
2) S=1/f + (1-1)/P)
3) S=P/(1-f)

4) S= 1P +1)
Ques # :150

Time compexity of strasen's matrix multiplication algorithm is given by :-
) o(n281)

3) o(nd21)
4)
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0(n?)

T T AT U AfeT AIceiFerT) TenmRes Y esa FrafFafe & ar aFd ¢ :-
1) 0{“2'81]

2) O{:HB}I

3) 0(”8'21}

4 0(n?)
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